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Chaundy and Jolliffe proved that if fang is a nonnegative, nonincreasing real sequence, then series ∑an sin ðnxÞ converges
uniformly if and only if nan ⟶ 0. The purpose of this paper is to show that if fnang is nonincreasing and nan ⟶ 0, then the
series f ðxÞ =∑an sin ð ffiffiffi

n
p

xÞ can be differentiated term-by-term on ½c, d� for c, d > 0. However, f ′ð0Þ may not exist.

1. Introduction

Chaundy and Jolliffe [1] proved the following.

Theorem 1. If fckg∞k=1 ⊂ R+ is decreasing to zero, then ∑∞
k=1

ck sin ðkxÞ converges uniformly in x if and only if kck ⟶ 0
as k⟶∞.

Theorem 1 has had numerous generalizations.
Leindler [7] verified that in Theorem 1, the monotonicity

assumption cn ≥ cn+1 can be replaced by c ∈ RBVS, i.e., if the
conditions cn ⟶ 0 and ∑∞

k=njck − ck+1j ≤ Kcn hold for all n
with constant K = KðcÞ which depends only upon c.

The next theorem was indicated in [11].

Theorem 2. If fckg belongs to the class MVBVS, i.e., if there
exist constants C and λ ≥ 2, depending only on the sequence

fckg such that ∑2n
k=njck − ck+1j ≤ ðC/nÞ∑bλnc

k=bλ−1ncck for all

n ≥ λ, then series ∑∞
k=1ck sin ðkxÞ converges uniformly in x if

and only if limk⟶∞kck = 0.

Móricz [8] proves the following theorem.

Theorem 3. Assume f : R+ ⟶ ½0,∞Þ with property xf ðxÞ
∈ L1locðR+Þ. If f ðxÞ is nonincreasing on R+, then the integralÐ∞
0 f ðxÞ sin ðtxÞdx, t ∈ R+, converges uniformly in t if and

only if xf ðxÞ⟶ 0 as x⟶∞.

A result due to Žak and Šneider [10] holds for double
sine series.

Theorem 4. If fcjkg∞j,k=1 ⊂ R+ is monotonically decreasing

double sequences, i.e., a sequence of real numbers such that
for j, k = 1, 2,⋯, cjk − cj+1,k ≥ 0, cjk − cj,k+1 ≥ 0, and cjk −
cj,k+1 − cj+1,k + cj+1,k+1 ≥ 0, then ∑∞

j=1∑
∞
k=1cjk sin ðjxÞ sin ðkyÞ

is uniformly regularly convergent in ðx, yÞ if and only if jk
cjk ⟶ 0 as j + k⟶∞.

Theorem 4 was generalized by Kórus [6]. He has defined
new classes of double sequences (SBVDS1) to obtain those
generalizations.

Duzinkiewicz and Szal [2] introduce a new class of dou-
ble sequences called DGMðα, β, γ, rÞ, which is a generaliza-
tion of the class considered by Kórus, and they obtain
sufficient and necessary conditions for uniform convergence
of double sine series.

Dyachenko et al. [3] proved the Chaundy-Jolliffe
theorem for GMðβÞ sequences with majorant β having
the following form: βn = ð1/nÞFnðaÞ, where Fn is
admissible.

In the recent paper [5], it was proved that ∑an sin ð ffiffiffi
n

p
xÞ

converges uniformly on ½0, π� if and only if nan ⟶ 0.
One of the results of paper [9] is that for any α ∈ ð0, 2Þ,

∑an sin nαx converges uniformly if and only if nan ⟶ 0.
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2. Main Results

Lemma 5. Let

I∗ =
cos π/x0ð Þ

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

+ j + 1
� �q� �

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

+ j + 1
� �q

−
4x0
π

sin π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4
+ j + 1

	 
s
−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4
+ j

	 
s0
@

1
A

0
@

1
A

∗ cos π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4
+ j + 1

	 
s
+

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4
+ j

	 
s0
@

1
A

0
@

1
A,

I∗∗ =
cos π/x0ð Þ

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

− j
� �q� �

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

− j
� �q

−
4x0
π

sin π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4
− j

	 
s
−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4
− j − 1

	 
s0
@

1
A

0
@

1
A

∗ cos π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4
− j

	 
s
+

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4
− j − 1

	 
s0
@

1
A

0
@

1
A,

ð1Þ

where m ∈Odd+ = f1, 3, 5, 9,⋯g.
Let a, b ∈ R such that 0 < a < b. Then, for all x0 ∈ ½a, b�

and for all m >max f2/x20, 2/x0g,

〠
x20/4ð Þ 2m+1ð Þ−1b c

j=0
I∗+I∗∗j j ≤ 16π2

x50m2
2x40 + x20
� �

: ð2Þ

Proof. Let

Note that for all m >max f2/x20, 2/x0g,

In view of (4), the following inequality is satisfied:

I∗1 =
cos π/x0ð Þ

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

+ j + 1
� �q� �

− cos π/2x0ð Þ
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

+ j + 1
� �q

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

+ j
� �q� �� �

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

+ j + 1
� �q ,

I∗2 = cos π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4 + j + 1
	 
s

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4 + j
	 
s0

@
1
A

0
@

1
A

∗
1ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20 m + 1ð Þ2/4� �
+ j + 1

� �q −
4x0
π

sin π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4 + j + 1
	 
s

−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4 + j
	 
s0

@
1
A

0
@

1
A

8><
>:

9>=
>;:

ð3Þ

π

2x0
1ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20 m + 1ð Þ2/4� �
+ j + 1

� �q
+

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

+ j
� �q −

1
3!

π

2x0
1ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20 m + 1ð Þ2/4� �
+ j + 1

� �q
+

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

+ j
� �q

0
B@

1
CA

3

≤ sin π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4 + j + 1
	 
s

−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4 + j
	 
s0

@
1
A

0
@

1
A ≤

π

2x0
1ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20 m + 1ð Þ2/4� �
+ j + 1

� �q
+

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

+ j
� �q :

ð4Þ

I∗2j j ≤ π2

2x503!m3 + 1ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

+ j + 1
� �q −

2ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

+ j + 1
� �q

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

+ j
� �q

�������
�������

≤
π2

2x503!m3 + 2
m2x40

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4 + j
	 
s

−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4 + j + 1
	 
s0

@
1
A ≤

8π2

x50m3 :

ð5Þ
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Let

In analogy with (5), we have

I∗∗1 =
cos π/x0ð Þ

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

− j
� �q� �

− cos π/2x0ð Þ
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

− j
� �q

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

− j − 1
� �q� �� �

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2/4� �

− j
� �q , ð6Þ

I∗∗2 = cos π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4 − j
	 
s

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4 − j − 1
	 
s0

@
1
A

0
@

1
A

∗
1ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20 m + 1ð Þ2/4� �
− j

� �q −
4x0
π

sin π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4 − j
	 
s

−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20 m + 1ð Þ2

4 − j − 1
	 
s0

@
1
A

0
@

1
A

8><
>:

9>=
>;,

ð7Þ

I∗1+I∗∗1 = −2ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 + j + 1
� �q sin π

4x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j + 1
	 
s

−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j
	 
s ! !

∗ sin π

4x0
3
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j + 1
	 
s

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j
	 
s ! !

+ −2ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j
� �q sin π

4x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j
	 
s

−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j − 1
	 
s ! !

∗ sin π

4x0
3
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j
	 
s

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j − 1
	 
s ! !

== −2ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 + j + 1
� �q sin π

4x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j + 1
	 
s

−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j
	 
s ! !

∗ sin π

4x0
3
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j + 1
	 
s

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j
	 
s ! !

+ sin π

4x0
3
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j
	 
s

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j − 1
	 
s ! !)(

+ sin π

4x0
3
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j
	 
s

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j − 1
	 
s ! !

∗
−2ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20/4
� �

m + 1ð Þ2 − j
� �q sin π

4x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j
	 
s  8><

>:
−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j − 1
	 
s !!

+ 2ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 + j + 1
� �q sin π

4x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j + 1
	 
s

−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j
	 
s ! !)

= J1 + J2:

ð8Þ

I∗∗2j j ≤ 8π2

x50m3 : ð9Þ
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If D ∈ f−3,−2,−1, 0g, then

J1j j ≤ π

x30m2 sin π

4x0
2x0 m + 1ð Þ + 3

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j + 1
	 
s

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j
	 
s

− 2x0 m + 1ð Þ
 ! !�����

+ sin π

4x0
2x0 m + 1ð Þ + 3

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j
	 
s

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j − 1
	 
s

− 2x0 m + 1ð Þ
 ! !�����

= π

x30m2 −1ð Þ m+1ð Þ/2 sin π

4x0
3
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j + 1
	 
s

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j
	 
s

− 2x0 m + 1ð Þ
 ! !�����

+ −1ð Þ m+1ð Þ/2 sin π

4x0
3
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j
	 
s

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j − 1
	 
s

− 2x0 m + 1ð Þ
 ! !�����

= π

x30m2 sin π

4x0
9 x20/4
� �

m + 1ð Þ2 + j + 1
� �

− 9/4ð Þx20 m + 1ð Þ2

3
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 + j + 1
� �q

+ 3/2ð Þx0 m + 1ð Þ
+ x20/4

� �
m + 1ð Þ2 + j

� �
− 1/4ð Þx20 m + 1ð Þ2ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20/4
� �

m + 1ð Þ2 + j
� �q

+ 1/2ð Þx0 m + 1ð Þ

0
B@

1
CA

0
B@

1
CA

�������
+ sin π

4x0
9 x20/4
� �

m + 1ð Þ2 − j
� �

− 9/4ð Þx20 m + 1ð Þ2

3
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j
� �q

+ 3/2ð Þx0 m + 1ð Þ
+ x20/4

� �
m + 1ð Þ2 − j − 1

� �
− 1/4ð Þx20 m + 1ð Þ2ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20/4
� �

m + 1ð Þ2 − j − 1
� �q

+ 1/2ð Þx0 m + 1ð Þ

0
B@

1
CA

0
B@

1
CA
�������

≤
π

x30m2 2 sin π

8x0
3j + 3Dffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20/4
� �

m + 1ð Þ2 + j + 1
� �q

+ 1/2ð Þx0 m + 1ð Þ
+ j +Dffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20/4
� �

m + 1ð Þ2 + j
� �q

+ 1/2ð Þx0 m + 1ð Þ

0
B@

0
B@

�������
+ −3j + 3Dffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20/4
� �

m + 1ð Þ2 − j
� �q

+ 1/2ð Þx0 m + 1ð Þ
+ −j +Dffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20/4
� �

m + 1ð Þ2 − j − 1
� �q

+ 1/2ð Þx0 m + 1ð Þ

1
CA
!�����

≤
π2

4x40m2 3j

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j
� �q

−
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 + j + 1
� �q

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j
� �q

+ 1/2ð Þx0 m + 1ð Þ
� � ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20/4
� �

m + 1ð Þ2 + j + 1
� �q

+ 1/2ð Þx0 m + 1ð Þ
� �

�������
�������

8><
>:

+ j

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j − 1
� �q

−
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 + j
� �q

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j − 1
� �q

+ 1/2ð Þx0 m + 1ð Þ
� � ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20/4
� �

m + 1ð Þ2 + j
� �q

+ 1/2ð Þx0 m + 1ð Þ
� �

�������
�������
9>=
>; + 2π2

x50m3 ≤
16π2

x70m5 j
2 + 2π2

x50m3 ,

ð10Þ

J2j j ≤ 2
sin π/4x0ð Þ

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 + j + 1
� �q

−
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 + j
� �q� �� �

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j
� �q

�������
− 2

sin π/4x0ð Þ
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j
� �q

−
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j − 1
� �q� �� �

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j
� �q j

+ 2 sin π

4x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j + 1
	 
s

−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j
	 
s ! !

1ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 + j + 1
� �q −

1ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j
� �q

8><
>:

9>=
>;

�������
�������

≤
4

x0m
2 sin π

8x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j + 1
	 
s

−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 + j
	 
s

−

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j
	 
s

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 m + 1ð Þ2 − j − 1
	 
s ! !�����

����� + 4π j + 1ð Þ
x50m4

≤
π

x20m
1ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi

x20/4
� �

m + 1ð Þ2 + j + 1
� �q

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 + j
� �q −

1ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j
� �q

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j − 1
� �q

�������
������� +

4π j + 1ð Þ
x50m4

≤
π

x20m

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j
� �q

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 − j − 1
� �q

−
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 + j + 1
� �q

−
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

m + 1ð Þ2 + j
� �q

x20m2

������
������ +

4π j + 1ð Þ
x50m4

≤
π

x40m3
2j
x0m

+ 2j + 2
x0m

� 

+ 4π j + 1ð Þ

x50m4 ≤
6π j + 1ð Þ
x50m4 :

ð11Þ
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In view of (5) and (8)–(11), the following inequality is
satisfied:

I∗+I∗∗j j ≤ 16π2

x50m2
1
m

+ j
m2 + j2

x20m3

� 

: ð12Þ

Then, for all x0 ∈ ½a, b� and m >max f2/x20, 2/x0g, we
have

〠
x20/4ð Þ 2m+1ð Þ−1b c

j=0
I∗+I∗∗j j ≤ 16π2

x50m2 2x40 + x20
� �

: ð13Þ

In the recent paper [4], it was proved, among others, that if
fcng is a nonincreasing sequence and ∑n=1cn cos ð

ffiffiffi
n

p
xÞ is

convergent at any point x ≠ 0, then limn⟶∞
ffiffiffi
n

p
cn = 0. We

show that if f ffiffiffi
n

p
cng is nonincreasing and limn⟶∞

ffiffiffi
n

p
cn =

0, then ∑n=1cn cos ðx
ffiffiffi
n

p Þ converges uniformly on ½c, d�,
where c > 0.

Theorem 6. Let c, d ∈ R such that 0 < c < d. If fnang∞n=1 is
nonincreasing and limn⟶∞nan = 0, then the series

f xð Þ = 〠
∞

n=1
an sin x

ffiffiffi
n

p� �
, ð14Þ

can be differentiated term-by-term on ½c, d� ðor ½−d,−c�Þ. The
series

f ′ xð Þ = 〠
∞

n=1
an

ffiffiffi
n

p
cos x

ffiffiffi
n

p� �
, ð15Þ

converges uniformly on ½c, d� ðor ½−d,−c�Þ.

Proof. We can find a, b ∈ R such that 0 < a < b, c = π/b, and
d = π/a. If fang∞n=1 is a nonnegative monotone sequence
and limn⟶∞nan = 0, then the series (14) converges uni-
formly [9]. We show that if, in addition, fnang∞n=1 is nonin-

creasing, then (for x = π/x0) the series
∑∞

n=1an
ffiffiffi
n

p cos ðπ ffiffiffi
n

p /x0Þ converges uniformly on ½a, b�. Let
m ∈Odd + , bn = cos ðπ ffiffiffi

n
p /x0Þ/

ffiffiffi
n

p
, Bk =∑k

n=1bn, and Mm =
fbðx20/4Þm2c + 1, bðx20/4Þm2c + 2,⋯, bðx20/4Þðm + 2Þ2cg. We
denote by m0 the minimal odd number for which there
holds the following: 4 ∣m0 − 1 and m0 ≥max f2/x20, 2/x0g.
Then,

∃H ′∀x0 ∈ a, b½ � 〠
x20m

2
0/4b c

n=1
bn <H ′: ð16Þ

Let

B′′k = 〠
k

n= x20/4ð Þm2
0+1b c

bn: ð17Þ

Note that for all m such that 4jm − 1 and for all k ∈Mm,
the following conditions are fulfilled: bk ≤ 0 and

〠
n∈
S

r∈ m0,m0+2,m0+4,⋯,mf gMr

bn ≤ B′′k ≤ 〠
n∈
S

r∈ m0,m0+2,m0+4,⋯,m−2f gMr

bn:

ð18Þ

On the other hand, for all m such that 4 ∣m − 3 and for
all k ∈Mm, we have bk ≥ 0 and

〠
n∈
S

r∈ m0,m0+2,m0+4,⋯,m−2f gMr

bn ≤ B′′k ≤ 〠
n∈
S

r∈ m0,m0+2,m0+4,⋯,m−2,mf gMr

bn:

ð19Þ

We show that the sequence

〠
n∈
S

r∈ m0,m0+2,m0+4,⋯,m−2,mf gMr

bn, ð20Þ

is bounded for 4jm − 1 and 4jm − 3.

〠
n∈
S

r∈ m0,m0+2,m0+4,⋯,m−2,mf gMr

bn = 〠
r∈Odd+,r=m0,⋯,m

〠
x20/4ð Þ r+2ð Þ2b c− x20/4ð Þr2b c

j=1

cos π/x0ð Þ
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r2 + j
� �q� �

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r2 + j
� �q

= 〠
r∈Odd+,r=m0,⋯,m

〠
x20/4ð Þ 2r+1ð Þ−1b c

j=0

cos π/x0ð Þ
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r + 1ð Þ2 + j + 1
� �q� �

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r + 1ð Þ2 + j + 1
� �q +

cos π/x0ð Þ
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r + 1ð Þ2 − j
� �q� �

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r + 1ð Þ2 − j
� �q

0
B@

1
CA

8><
>:

+ 〠
x20/4ð Þ r+1ð Þ2b c− x20/4ð Þ 2r+1ð Þb c− x20/4ð Þr2b c

j=1

cos π/x0ð Þ
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r2 + j
� �q� �

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r2 + j
� �q + 〠

x20/4ð Þ r+2ð Þ2b c− x20/4ð Þr2b c

j= x20/4ð Þ r+1ð Þ2b c+ x20/4ð Þ 2r+1ð Þb c− x20/4ð Þr2b c

cos π/x0ð Þ
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r2 + j
� �q� �

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r2 + j
� �q

9>=
>;

= 〠
r∈Odd+,r=m0,⋯,m

S1 + S2 + S3f g:

ð21Þ
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Note that ðx20/2Þ − 1 ≤ bðx20/4Þðr + 2Þ2c − bðx20/4Þðr + 1Þ2
c − bðx20/4Þð2r + 1Þc ≤ ðx20/2Þ + 2. Hence,

S3j j ≤ 4 2 + x20/2
� �� �
x0r

cos π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2
	 


+ x20
4 2r + 1ð Þ
	 
s !�����

�����
≤ 2 4 + x0

x0r
cos π

x0

x0
2 r + 2ð Þ +

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2
	 


+ x20
4 2r + 1ð Þ
	 
s  �����

−
x0
2 r + 2ð Þ

!!����� ≤ 2π x20/2 + 2
� �

4 + x0ð Þ
x30r2

:

ð22Þ

Moreover,

S2j j ≤ 2
x0r/2

cos π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r2 + 2
	 
s�����

����� ≤ 4π
x30r2

: ð23Þ

Furthermore,

Note that

S1 = 〠
x20/4ð Þ 2r+1ð Þ−1b c

j=0

4x0
π

sin π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x0
4 r + 1ð Þ2 + j + 1
j kr

−
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x0
4 r + 1ð Þ2 + j
j kr ! !

∗ cos π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x0
4 r + 1ð Þ2 + j + 1
j kr

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x0
4 r + 1ð Þ2 + j
j kr ! !(

+ 4x0
π

sin π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x0
4 r + 1ð Þ2 − j
j kr

−
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x0
4 r + 1ð Þ2 − j − 1
j kr ! !

∗ cos π

2x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x0
4 r + 1ð Þ2 − j
j kr

+
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x0
4 r + 1ð Þ2 − j − 1
j kr ! !

+ I∗+I∗∗
)

= S′1 + 〠
x20/4ð Þ 2r+1ð Þ−1b c

j=0
I∗+I∗∗ð Þ,

ð24Þ

S′1 = 〠
x20/4ð Þ 2r+1ð Þ−1b c

j=0

2x0
π

sin π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2 + j + 1
	 
s !

− sin π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2 + j
	 
s !" #

+ 2x0
π

sin π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2 − j
	 
s !"(

− sin π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2 − j − 1
	 
s !#)

== 2x0
π

sin π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2
	 


+ x20
4 2r + 1ð Þ
	 
s !

− sin π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2
	 
s !"

− sin π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2
	 


−
x20
4 2r + 1ð Þ
	 
s !

+ sin π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2
	 
s !#

== 2x0
π

−1ð Þ r+1ð Þ/2 cos π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2
	 


+ x20
4 2r + 1ð Þ
	 
s

−
r + 2ð Þπ
2

 !
+ −1ð Þ r+1ð Þ/2 cos π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2
	 


−
x20
4 2r + 1ð Þ
	 
s

−
rπ
2

 !" #

== 2x0
π

−1ð Þ r+1ð Þ/2 1 − 1 − cos π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2
	 


+ x20
4 2r + 1ð Þ
	 
s

−
r + 2ð Þπ
2

 ! !
+ 1 − 1 − cos π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2
	 


−
x20
4 2r + 1ð Þ
	 
s

−
rπ
2

 ! !" #

= 4x0
π

−1ð Þ r+1ð Þ/2 −
2x0
π

−1ð Þ r+1ð Þ/2
1 − cos2 π/x0ð Þ

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r + 1ð Þ2� �
+ x20/4
� �

2r + 1ð Þ� �q
− r + 2ð Þπ/2ð Þ

� �
1 + cos π/x0ð Þ

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r + 1ð Þ2� �
+ x20/4
� �

2r + 1ð Þ� �q
− r + 2ð Þπ/2ð Þ

� � ++
1 − cos2 π/x0ð Þ

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r + 1ð Þ2� �
− x20/4
� �

2r + 1ð Þ� �q
− rπ/2ð Þ

� �
1 + cos π/x0ð Þ

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20/4
� �

r + 1ð Þ2� �
− x20/4
� �

2r + 1ð Þ� �q
− rπ/2ð Þ

� �
2
64

3
75:

ð25Þ

〠
r∈Odd+ r=m0,⋯,m

−1ð Þ r+1ð Þ/2 =
−1 if 4∣m − 1,
0 if 4∣m − 3:

(
ð26Þ
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In view of Lemma 5 and (22)–(26), the following
inequality is satisfied:

for all x0 ∈ ½a, b�. Using (17)–(19), (21), and (27), we obtain

∃H ′′∀x0 ∈ a, b½ �B′′k <H ′′: ð28Þ

In view of (16) and (28), we get

∃G∀x0 ∈ a, b½ �Bk <G: ð29Þ

We know that fnang is nonincreasing and limn⟶∞nan
= 0 and (29) holds. Hence, the series ∑nanðcos ðπ

ffiffiffi
n

p /x0Þ/ffiffiffi
n

p Þ converges uniformly. This follows from Dirichlet’s test.

Remark 7. The conditions (fnang is nonincreasing, and
limn⟶∞nan = 0) are not sufficient for the differentiability
of (14) at the point x = 0.

Example 1. Let f ðxÞ =∑n=4ðsin ðx ffiffiffi
n

p Þ/n ln nÞ. It converges
uniformly on ½0, π� [5]. We show that f is not differentiable at
x = 0. Let f ðΔxÞ =∑n=4ð1/n ln nÞ sin ðπ ffiffiffi

n
p /2αÞ for Δx = π/2

α and α ∈Odd+ : 4jα − 1, α ≥ 5. Then, by Lagrange’s theorem,

〠
α2

n=4

1
n ln n

sin π
ffiffiffi
n

p
2α ≥

1
α ln α2

〠
α2

n=4

1ffiffiffi
n

p sin π
ffiffiffi
n

p
2α

≥
1

α ln α2

ðα2
3

1ffiffiffi
n

p sin π
ffiffiffi
n

p
2α dn

= 4
π ln α2

cos π
ffiffiffi
3

p

2α ,

ð30Þ

〠
2αð Þ2

n=α2+1

1
n ln n

sin π
ffiffiffi
n

p
2α ≥

1
2α ln 2αð Þ2 〠

2αð Þ2

n=α2+1

1ffiffiffi
n

p sin π
ffiffiffi
n

p
2α

≥
1

2α ln 2αð Þ2
ð 2αð Þ2+1

α2+1

1ffiffiffi
n

p sin π
ffiffiffi
n

p
2α dn

= −4
2π ln 2αð Þ2 cos

π
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
2αð Þ2 + 1

q
2α − cos

π
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
αð Þ2 + 1

q
2α

2
4

3
5:
ð31Þ

The function sin x/x has a relative minimum at the point
x1 ∈ ðπ, 3π/2Þ. Then,

〠
x12α/πð Þ2b c

n= 2αð Þ2+1

1
n ln n

sin π
ffiffiffi
n

p
2α

≥
−4

2π ln 2αð Þ2 cos
π

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x12α/πð Þ2 + 1

� �q
2α − cos

π
ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
2αð Þ2 + 1

q
2α

2
4

3
5,

ð32Þ

〠
3αð Þ2

n= x12α/πð Þ2b c+1
1

n ln n
sin π

ffiffiffi
n

p
2α

= 〠
3αð Þ2

n= x12α/πð Þ2b c+2
1

n ln n
sin π

ffiffiffi
n

p
2α

+
sin π

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x12α/πð Þ2 + 1

� �q
/2α

� �
x12α/πð Þ2 + 1

� �
ln x12α/πð Þ2 + 1
� �

≥
4

2π ln 2αð Þ2 cos
π

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x12α/πð Þ2 + 1

� �q
2α −

1
α2 ln α2

,

ð33Þ

〠
4αð Þ2

n= 3αð Þ2+1

1
n ln n

sin π
ffiffiffi
n

p
2α ≥

−4
3π ln 3αð Þ2 :

ð34Þ

In view of (30)–(34), we obtain

〠
4αð Þ2

n=4

1
n ln n

sin π
ffiffiffi
n

p
2α ≥

1
3π ln α

−
1

α2 ln α2
: ð35Þ

If x′r and xr
} are the relative minimum and maximum

(respectively) points of sin x/x, such that

〠
r∈Odd+,r=m0,⋯,m

S1 + S2 + S3ð Þ
�����

����� ≤ 〠
r∈Odd+,r=m0,⋯,m

4x0
π

−1ð Þ r+1ð Þ/2
�����

����� + 〠
r∈Odd+,r=m0,⋯,m

2x0
π

sin2 π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2
	 


+ x20
4 2r + 1ð Þ
	 
s

−
r + 2ð Þπ
2

 !"(

+ sin2 π

x0

ffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffiffi
x20
4 r + 1ð Þ2
	 


−
x20
4 2r + 1ð Þ
	 
s

−
rπ
2

 !#
+ 〠

x20/4ð Þ 2r+1ð Þ−1b c

j=0
I∗+I∗∗ð Þ

������
������ + S2j j + S3j j

)

≤
4x0
π

+ 〠
r∈Odd+,r=m0,⋯,m

16π2

r2x50
2x40 + x20
� �

+ 16x0
r2π

π2

4 + π2

x0

� 
2
+ 4π
r2x30

+ 2π x20/2
� �

+ 2
� �

4 + x0ð Þ
r2x30

( )
<H,

ð27Þ
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xr
} ∈ 2π + 2rπ, 5π2 + 2rπ
� 


,

x′r ∈ 3π + 2rπ, 7π2 + 2rπ
� 


,
ð36Þ

for r = 0, 1, 2, 3,⋯, then

In view of (36), we obtain

〠
x}r 2α/πð Þ2

� �
n= 4 r+1ð Þαð Þ2+1

sin π
ffiffiffi
n

p /2α
� �
ffiffiffi
n

p + 〠
4r+5ð Þαð Þ2

n= x}r 2α/πð Þ2+1
� � sin π

ffiffiffi
n

p /2α
� �
ffiffiffi
n

p

≥
ð x}r 2α/πð Þ2
� �
4 r+1ð Þαð Þ2

sin π
ffiffiffi
n

p /2α
� �
ffiffiffi
n

p dn +
ð 4r+5ð Þαð Þ2−1

x}r 2α/πð Þ2+1
� � sin π

ffiffiffi
n

p /2α
� �
ffiffiffi
n

p dn

=
ð 4r+5ð Þαð Þ2

4 r+1ð Þαð Þ2
sin π

ffiffiffi
n

p /2α
� �
ffiffiffi
n

p dn −
ð x}r 2α/πð Þ2
� �

+1

x}r 2α/πð Þ2
� � sin π

ffiffiffi
n

p /2α
� �
ffiffiffi
n

p dn

−
ð 4r+5ð Þαð Þ2

4r+5ð Þαð Þ2−1

sin π
ffiffiffi
n

p /2α
� �
ffiffiffi
n

p dn ≥
4α
π

−
2

r + 1ð Þα ,

ð38Þ

〠
4r+6ð Þαð Þ2

n= 4r+5ð Þαð Þ2+1

sin π
ffiffiffi
n

p /2α
� �
ffiffiffi
n

p + 〠
xr ′2α/πð Þ2

� �
n= 4r+6ð ÞαÞ2+1

sin π
ffiffiffi
n

p /2α
� �
ffiffiffi
n

p

+ 〠
4r+7ð Þαð Þ2

n= xr ′2α/πð Þ2+1
� � sin π

ffiffiffi
n

p /2α
� �
ffiffiffi
n

p

≥
ð 4r+6ð Þαð Þ2

4r+5ð Þαð Þ2
sin π

ffiffiffi
n

p /2α
� �
ffiffiffi
n

p dn −
4

r + 1ð Þα = −4
r + 1ð Þα ,

ð39Þ

〠
4r+8ð Þαð Þ2

n= 4r+7ð Þαð Þ2+1

sin π
ffiffiffi
n

p /2α
� �
ffiffiffi
n

p ≥
ð 4r+8ð Þαð Þ2

4r+7ð Þαð Þ2
sin π

ffiffiffi
n

p /2α
� �
ffiffiffi
n

p dn = −
4α
π
:

ð40Þ
In view of (37)–(40), we get

〠
∞

n=α2+1

sin π
ffiffiffi
n

p /2α
� �
n ln n

≥〠
r=0

4
π 4r + 5ð Þ ln 4r + 5ð Þαð Þ2 −

4
π 4r + 7ð Þ ln 4r + 7ð Þαð Þ2 −

6
r + 1ð Þ2α2

( )

≥ −
π2

α2
:

ð41Þ

Hence,

〠
n=4

1
n ln n

sin π
ffiffiffi
n

p
2α ≥

1
3π ln α

−
π2 + 1
α2

,

limα⟶∞
f Δxð Þ
Δx

= +∞:

ð42Þ

This follows from (35) and (41).

Data Availability

No data were used to support this study.

〠
∞

n=α2+1

sin π
ffiffiffi
n

p /2α
� �
n ln n

=〠
r=0

〠
x}r 2α/πð Þ2

� �
n= 4 r+1ð Þαð Þ2+1

sin π
ffiffiffi
n

p /2α
� �
n ln n

+ 〠
4r+5ð Þαð Þ2

n= x}r 2α/πð Þ2+1
� � sin π

ffiffiffi
n

p /2α
� �
n ln n

+ 〠
4r+6ð Þαð Þ2

n= 4r+5ð Þαð Þ2+1

sin π
ffiffiffi
n

p /2α
� �
n ln n

8><
>:

+ 〠
xr ′2α/πð Þ2

� �
n= 4r+6ð ÞαÞ2+1

sin π
ffiffiffi
n

p /2α
� �
n ln n

+ 〠
4r+7ð Þαð Þ2

n= xr ′2α/πð Þ2+1
� � sin π

ffiffiffi
n

p /2α
� �
n ln n

+ 〠
4r+8ð Þαð Þ2

n= 4r+7ð Þαð Þ2+1

sin π
ffiffiffi
n

p /2α
� �
n ln n

9>=
>;

≥〠
r=0

1
4r + 5ð Þα ln 4r + 5ð Þαð Þ2 〠

x}r 2α/πð Þ2
� �
n= 4 r+1ð Þαð Þ2+1

sin π
ffiffiffi
n

p /2α
� �
ffiffiffi
n

p ++ 〠
4r+5ð Þαð Þ2

n= x}r 2α/πð Þ2+1
� � sin π

ffiffiffi
n

p /2α
� �
ffiffiffi
n

p

0
B@

1
CA

8><
>:

+ 1
4r + 6ð Þα ln 4r + 6ð Þαð Þ2 〠

4r+6ð Þαð Þ2

n= 4r+5ð Þαð Þ2+1

sin π
ffiffiffi
n

p /2α
� �
ffiffiffi
n

p + 〠
xr ′2α/πð Þ2

� �
n= 4r+6ð ÞαÞ2+1

sin π
ffiffiffi
n

p /2α
� �
ffiffiffi
n

p + 〠
4r+7ð Þαð Þ2

n= xr ′2α/πð Þ2+1
� � sin π

ffiffiffi
n

p /2α
� �
ffiffiffi
n

p

0
B@

1
CA

+ 1
4r + 7ð Þα ln 4r + 7ð Þαð Þ2 〠

4r+8ð Þαð Þ2

n= 4r+7ð Þαð Þ2+1

sin π
ffiffiffi
n

p /2α
� �
ffiffiffi
n

p
9=
;:

ð37Þ
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